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On the other hand CP is more powerful
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Interpolation
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Thy Let 8 be a prop . pf system

�1� If P has feces intup and NP

§tP
1poly

then 8 is not pay bded

�2� If 8 has monotone teas infofrpdatim
the P is not pay bdld

Pf=th .

�1� S pose
8 has feas

'

interp .

+ is po} bded

Let Ac PF ) : F encodes

ABCNF
formula

and of is a sat . ass . for F

Let BCFT ) : F encodes a CNF formula

and F encodes a P - ref .
of F

since 8 is phbded ,
A^B has $eyK PM in

n ( * vans under } f) .



Since P is PM bded And has a

8- of Asia pohcn)

Since P has feasint
,

ZE a sje pshcn)

that tells Us if AC qf)
unsst

or CBCQF ) is UNSOAT

.

.

.
C is deciding SAT in PM sjl

-

�2� Spose P has monotone feas interp &

8 - is pm bded .

let Xp , g) : P encode a sigh mn

vertices

of encode a K - clique
A says

-

if i ,j E K . clique
then Cyj)Ardis In F

B ( pjr ) : F. of encode ⇐ -1) co clique
Bsaysci.DE



B says

@
itsamisdcimassin

the

#§§§§seen ci ;D is not in F Ki

O ,
- wdigve

If P -

is pshbdld, partition of V

An B has a fief of into El pieces
site PM Cn )

.
since P

also has monotone feces . intep ,

this means there is a monotone pohged

avant CCD : 1 If 4 is a K - clique
0 it L is a Ckri ) wcliqve

Robby FE
,

K= if there is no she znE monotone

circuit C



We will show :
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You can't had your cake a eat it too ;
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PACKING Valiant

Concept class

EEx C = all pdyje in n
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Known : Dec trees are

DNFS ?
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